Year 11 Mathematics (2 Unit) — Assessment 1 m

Write the answer to each question on the question paper.  Show all working.

Question 1 (7 marks)
2 2
a) Evaluate, correct to 2 decimal places \/23-45 —14.02 (1)
' 6.2 x13.9
b) Convert the recurring decimal, 2.45 to a fraction (rational number). (2)

(show all working; without the use of the calculator)

wIN

c) Express without using negative or fractional powers: (y+4) (2)

d) Evaluate when a =§ and b = % . Give answer in % form. (2)

a
ap~*
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Year 11 Mathematics (2 Unit) — Assessment 1 m

Question 2 (11 marks)
a) Simplify:
2
) H=3mp (2)
3m-9p
4 _2
i) x-3 X (2)
X+5 X —25
i) 3 15 (2)
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Year 11 Mathematics (2 Unit) — Assessment 1 m

b) Factorize fully:

) 8X°y + 20xy — 12y (2)
i) hl+27 (1)
23
c) Rationalize the denominator: 4 —J6 (2)
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Year 11 Mathematics (2 Unit) — Assessment 1 m

Question 3 (13 marks)
a) Solve:
) X =7x (2)

X
I
w
X
+
a1
I
D

i) 3 2 (2)

i) [2x—3)=-x+7 (3)
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Year 11 Mathematics (2 Unit) — Assessment 1 m

b) Solve fory and graph the solution on a number line (3)
[2y - 3|>5
c) Solve the pair of simultaneous equations (3)
X-2y=11
5x+y=1
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Question 4 (9 marks)
a) The interior angle of a regular polygon is 150°. How many sides does the polygon have?

(1)

b) In the figure below, BE is parallel to CD.

A

i)  Show that AABE and AACD are similar triangles. Give reasons. (2)
i) Find the value of x. (2)
iii)  Find the value of y, giving reasons for all your working. (1)
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Year 11 Mathematics (2 Unit) — Assessment 1 m

c) Inthe diagram below, BD = BC, 4AED = 4BCD = 67°, 4£BAD = 32° and 2ADB =

81°.
A B
32°
8L°
£ /67 67°\ ¢
D
Prove, giving reasons, that ABDE is a parallelogram. (3)
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Year 11 Mathematics (2 Unit) — Assessment 1 m

Questions removed:

a) Evaluate (—2.7 X 107°) + (4.5 x 10®) writing your answer in scientific notation correct

to 3 significant figures. (1)
e) Evaluate: 2|5 % |-3|+ (-4)° (2)
d) Simplify 527 +J3 —2J12 leaving your answer in simplest surd form. (2)
Lt @
d) Solve by completing the square. Give answer to 3 significant figures. (3)

x2—-10x+7=0

d) Find the area of the shaded region. Give your answer to 2 decimal places . (2)
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Write the answer to each question on the guestion paper.

Question 1

Show all working.

(7 marks)
2 2
a) Evaluate, correct to 2 decimal places J23-45 = 14.02 (1)
6.2x13.9
2. O 2
b} Convert the recurring decimal, 245 to a fraction {rational number)}. {2}
{show ail working; without the use of the calculotor)
Lot P PR 770~ 5 S
oo s e
ponN T 2US .S as
ice-N T 2%3
Sigpy = 23
Nos 2H3
“aq
L e G5
- 5
N = L t )
c) Express without using negative or fractional powers: {(y+4) 3 {(2)
{
[ ———
30 g
v (49
_1 =1 G in &
d} Evaluate = whena = 3 and b = 5 Give answer in form, {2}
- ] S &
« Subsh(L Y 2 (5)
ar ™ .
. ; 243
2! e x
= b - e A 7
&
Cu PRI

£y

i




Question 2 - {11 marks)

a) Simplify:
2 o w-..«--""‘
= WA
2
4 2
i) Xx—3 X {2)
o Sl
M ) P
w3 -3) S ie3)
o ey - 23 4o
% (3¢-3)
= e &
2w 3 -3)
xX+5 —'—X2—25
0 5t (2}
| 5 -
- e v
| # (3’9 3j(’;)&, < B
>




b} Factorize fully:

i) 8x2y + 20xy - 12y

1f

dy (25 + S -3)

L&ﬁ (_sz{. — LE {)e:; -+ %}

gk

Wy A+ 27

(v
s 3y (Woz @)

23
¢} Rationalize the denominator: 4 ~-J6

SNE

@)
o 4+ J6
- ¥
N P o+ Ve
e 243 (w4 Je)
T -G

RN RPN

NET )
:%M{‘ZZ
L
I N ANEY
Ve
- %J’% + 292

&




Question 3

a} Solve:

T I
X=3_X+5_
i) 3 2

W) 23l = x4+ T

I T 23 + 1

Sy = O
e T A
Test la -3} =~ 1
sl
v o=

e

(13 marks)

{2)

(3)
~ Bue 4 7
iy

x.




(3)

b] Sclve for y and graph the solution on a number line

|2y~ 3> 5
S of  24-3 <-5S
2—;3 > ¥ ”3—"3 <L s
474 e
) o T
e B
-1 & L
¢) Solve the pair of simultaneous equations (3)
3x-2y=11 (L)
Sx+y=1
2x (@ oty o
O s
L% = 13
w = 4
5w 4 4 = {
s vy =
T~ "‘“L% 5. =3
=~y




Question 4 (9 marks)

a} The interior angle of a regular polygon is 150°, How many sides does the polygon have?

S - o i [
E%_% . DA gie. = i%() LSO (1)
37 e
50" (> <k
. e = - Y L2 shes
e e‘:.sxg 5 ARG e
b} In the figure below, BE is paraliel to CD.
A
B E
t2m
C X ¥ D
i)  Show that AABE and AACD are similar triangles. Give reasons. {2}
L Ave - LAcd (ﬁi@‘:mﬁ £'s e BE U QQ'D}

L A Covaiansig des S ABE el £ AT

O AABE ¢ AACD Shedar  (AA)

i} Find the value of x. (2)
3 oy
Lg+iz e % T iy
185 = 2%z
iii)  Find the value of y, giving reasons for all your working. (1)
gz 1867 (2%458%)  (Sumn of 4 tn A)

= Sed




¢} Inthe diagram below, BD = BC,
LADB = B1°.

LAED = £LBCD = 67°, £BAD = 32° and

B
32°

81°
g /87

67°

Prove, giving reasons, that ABDE is a parallelogram. {3)
# p ;s
L. B = &1

( base 4. &ﬂF {seeades & = ﬁ%"b);
i Aep = LBDC

= &1 °
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